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type
rec = record {FF B AR B 1) 45 R A A B o |
mark : boolean; URBIETE A BRI 2 R o Rhrak |
last, (IER E—1THI RS — 1 i) )
minrow, e SRR 7 AT S |

length: integer; T TR 77 G A4 A 2037 36 K |
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end;

var

data: array[ 0. .2000] of char; | AR ELESCEFAF |

word: array[ 0. .2000] of record VAN BIA7E data o R B AT B |

start, long: integer;
end;

row: array[ 0. .2000] of rec; | A~ BRI H |

len, n, num: integer;
[ R Rtk )
uses crt; | 3C M A readkey, #5 ) read 7S BRI AL 2 00 X 128 1T AT
procedure error; { FERALHE |

begin
writeln( ’ Data error! ’ ) ; halt;

end;

procedure readtext; {8 AR I i |
var
ch; char;
i:integer;
begin
writeln( " Input Text: ")
ch: = readkey;
len: =0;
while ch< > # 13 do
begin
write(ch) ; inc(len) ;
if len> 2000 then error; {3CEEK EER 2|
data[ len]: = ch;
ch: = readkey;
end;
writeln;
write('n= ") ;readln(n) ;

end;

procedure getword; | M data FRficE B R4S B B BE |

var
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i: integer;
begin
3o=1;
while i< =len do
begin
while (i< =len) and (data[i] =" ") do inc(i); |{MEZSH% !}
if i> = len then break;
inc(num) ; word[ num] . start: = i; | B7EIR M IFMakb |
while (i< =len) and (datali]l< >’ ’) do inc(i) ;
word[num].long: =i~ word[ num] . start; { Fr A B |
end;
end;
procedure workl; {{£4 1 |
oo B
procedure work2; {{F£45 2 |
T -3

procedure work3; {{£:55 3 |
var long, i, , k, temp, min, p: integer;
begin
fori: =1 to num do { X HA & A ] GE% i AbHE |
if (word[i].long=n-1) or (word[i] .long>n) then error;
row[ 0] . minrow: = 0;row[0] . mark: = true; { ¥J4311 7}
for i: =1 to num do
begin
min: = num;
rowli].mark: = false; {RAH LA i BIALE R I R0
for j: = i downto 1 do if row[ j].mark then
begin { HORESFHEB R BAET R |
temp: =i-j;
for k: =j to i do inc(temp, word[ k] .long) ;
if temp > n then break;
if (j<i-1)
orand (j=1)) then {FREIAT 17 |
if min> row[j+ 1] . minrow + 1 then 1R B 7 |

begin min: = row| j] . minrow + 15pe=J;
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long: = temp — i+ j;
row[i].mark: = true; | fFFEN FARIC = true }

end;
end;
if row[ i) . mark then {iC R F
begin

row[i] . minrow: = min; {EA% i IHIRILE R BRAITE
row[i].last: = p; { E—f745 RS |
row[i].length: = long; { A7 Y B S |
end;
end;

if not row| num] . mark then error; {ﬁﬂ%*ﬁﬁﬂﬁfé*’?iﬁ%gmiﬁ}

end;

procedure print _ word(i: integer) ;
var j:integer;
begin
with word[i] do
for j: = start to start + long— 1 do write(data[ j]) ;

end;

procedure out(i:integer); | i HERR SR |
j,k, tlemp: integer;
begin
if rowl i].last< >0 { AIRJG—A~, I I T ED T 3¢ |
then out(row[i].last); -
k: =i—rowli].last—1; { X—FTAYBIAEL - 1 |
temp: = n—row[ i) . length; | X—F7HTAT I AL |
print _ word(row[i].last+1); | FTENEE— A i) |
for j: = row[i].last+ 2 to i do | FTEPELE BRI S AE ]
begin
write( " stemp div k)3 | FPENAZ %L |
print _ word(j) ;
temp: = temp — temp div k;dec(k) ; { AT — RS BOEE |

end;



i B WKL 52 35 SR A 4

writeln;

end;
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